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dbiEE 295 995 361 162 4 4 68 0 60.7%
5 105 98 64 18 0 2 16 7 65.3%
=F 98 98 44 44 2 0 8 0 44.9%
=k 145 145 97 31 2 5 15 0 66.9%
FH 78 78 48 21 0 0 9 0 61.5%
11} 70 70 47 20 0 1 3 0 67.1%
RS 145 138 60 54 2 3 22 7 43.5%
Rk 191 190 100 61 0 3 29 1 52.6%
N 112 112 70 32 0 1 10 0 62.5%
BB 139 135 86 35 0 1 14 4 63.7%
B\E 357 285 163 92 0 6 30 72 57.2%
FE 286 271 154 80 5 ) 32 15 56.8%
HR 644 625 337 169 4 11 115 19 53.9%
BN 349 328 227 o7 8 ) 36 21 69.2%
s 136 136 82 40 3 2 11 0 60.3%
El 112 112 75 33 0 0 4 0 67.0%
r=pll 102 102 61 35 0 2 6 0 59.8%
faFt 77 17 46 21 1 0 9 0 59.7%
3 60 60 40 11 2 1 Ji 0 66.7%
K~E 138 136 69 47 3 3 17 2 50.7%
3=k 103 103 592 41 2 4 8 0 50.5%
FHE 186 186 139 36 3 7 8 0 74.7%
pEp il 331 331 182 121 5 20 23 0 55.0%
= 108 108 61 35 5 4 7 0 56.5%
HE 60 60 45 10 3 2 2 0 75.0%
R 1717 177 71 82 4 10 20 0 40.1%
PN 548 531 292 20 22 8 197 17 55.0%
EE 352 392 188 119 1 4 44 0 53.4%
=R 76 715 49 22 1 1 3 1 65.3%
eI 92 92 43 34 0 4 15 0 46.7%
SHER 46 46 26 18 0 3 2 0 56.5%
SR 57 57 34 18 0 0 3] 0 59.6%
i LU 179 179 66 81 0 ) 32 0 36.9%
/N 255 255 142 17 3 7 33 0 55.7%
LA 149 149 76 54 1 2 18 0 51.0%
E= 119 118 60 43 1 4 14 1 50.8%
F 96 96 46 35 5 4 10 0 47.9%
EiR 146 146 66 66 1 3 13 0 45.2%
=% 3 139 139 64 55 1 4 19 0 46.0%
fa il 469 468 246 187 1 4 34 1 52.6%
= 110 110 61 40 0 1 9 0 55.5%
KI5 164 161 84 52 1 1 24 3 52.2%
REAR 219 218 101 96 1 2 20 1 46.3%
N 164 164 111 36 1 3 16 0 67.7%
= I 145 145 91 42 0 1 12 0 62.8%
BRE 276 265 148 88 0 1 29 11 55.8%
i 94 89 62 24 0 0 3 5 69.7%
2Ei 8,799 8,611 4,837 2,595 98 164 1,081 188 56.2%
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